Pogition/Velocity/Acceleration

Practice Problems:

1.

Bugs Bunny has been captured by Yosemite Sam and forced to walk the plank, Instead of waiting for
Yosemite Sam to finish cutting the board from underneath him, Bugs finally decides just to jump. Bugs’

position, s, is given by the equation s = %(j £? +v,1 +5,. Hejumps up at 16 ft/sec from a plank 320 feet

high.
a. What is the position equation and velocity equation?

b. When will Bugs hit the ground?

¢. What is Bugs’ velocity at impact?

d. What is Bugs’ speed at impact?

e. When does Bugs reach a maximum height?

f. What is Bugs® maximum height?

g. Find Bugs’ velocity at 1 second.

h. Find Bugs’ average velocity from the time he jumped until the time he Janded.

Spider-Man goes to the top of a building 320 feet high to prevent Dr. Octopus from destroying the Earth,
He knocks Dr. Octopus unconscious and throws him up in the air at 128 fi/sec.

a. Find the position, velocity, and acceleration as functions of time.

b. How long will it take for Dr. Octopus to reach his maximum height?
¢. What is the maximum height that Dr. Octopus reaches?

d. When does Dr. Octopus hit the ground?

e. With what velocity does Dr. Octopus hit the ground?

A student throws his Calculus book straight up from the ground at 490 m/sec,

a. Find the position, velocity, and acceleration as functions of time,
b. How long will it take the book to reach its maximum height?

¢, What is the maximum height the book goes?

d. When does the book hit the ground?

e. With what velocity does the book hit the ground?

A student drops his graphing caleulator from the top level of the parking garage 64 feet high.

a. Find the position, velocity, and acceleration as functions of time.

b. When does the calculator hit the ground?

¢. With what velocity does the calculator hit the ground?

d. What was the calculator’s average velocity from the time it was dropped until it hit the ground?
e. Was this smart to drop such an expensive calculator from so high up?
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